L legrand

128 av. du Maréchal-de-Lattre-de-Tassigny 87045 Limoges Cedex France Tel. +33 (0) 555068787 Fax. + 33 (0) 555068888

Your usual Sales office www.legrand.com

Product Environmental Profile

LGP plastic fittings





LEGRAND'S ENVIRONMENTAL COMMITMENTS

Incorporate environmental management into our industrial sites

Of all Legrand sites worldwide, over 85% are ISO 14001-certified (sites belonging to the Group for more than five years).

• Offer our customers environmentally friendly solutions

Develop innovative solutions to help our customers design more energy efficient, better managed and more environmentally friendly installations.

• Involve the environment in product design and provide informations in compliance with ISO 14025 Reduce the environmental impact of products over their whole life cycle.

Provide our customers with all relevant information (composition, consumption, end of life, etc.).

REFERENCE	
Function	To ensure the tightness between conduit and cable guide, as well as the electrical insulation and protection of cables, for a use time of 20 years, by guaranteeing an IP66 protection degree, static and dynamic. Diameter 17mm; thread M25.
Reference Product	
	LG-666478
	LGP straight fitting. Nominal diameter 17mm. Thread: M25. Colour: black

The company reserves the right to change specifications and designs without notice. All illustrations, descriptions, dimensions and weights in the document are for guidance and cannot be held binding on the company.



PRODUCTS CONCERNED

The environmental data is representative of the following products:

LG-666478

LG-666452, 453, 454, 455, 456, 457, 458, 459, 460, 461, 462, 463, 464, 465, 466, 467, 468, 469, 470, 471, 472, 473, 474, 475, 476, 477, 479, 480, 481, 482, 483, 484, 485, 486, 487, 488, 489, 490, 491, 492, 493, 494, 495, 496, 497, 498, 499;

LG-666500, 501, 502, 503, 504, 505, 506, 507, 508, 509, 510, 511, 512, 513, 514, 515, 516, 517, 518, 519, 520, 521, 522, 523, 524, 525, 526, 527, 528, 529, 530, 531, 532, 533, 534, 535, 536, 537, 538, 539, 540, 541, 542, 543, 544, 545, 546, 547, 548, 549, 550, 551, 552, 553, 554, 555, 556, 557, 558, 559, 560, 561, 562, 563, 564, 565, 566, 567, 568, 569, 570, 571, 572, 573, 574, 575, 576, 577, 578, 579, 580, 581, 582, 583, 584, 585, 586, 587, 588, 589, 590, 591, 592, 593, 594, 595, 596, 597, 598, 599;

LG-666600, 601, 602, 603, 604, 605, 606, 607, 608, 609, 610, 611, 612, 613, 614, 615, 616, 617, 618, 619, 620, 621, 622, 623, 624, 625, 626, 627, 628, 629, 630, 631, 632, 633, 634, 635, 636, 637, 638, 639, 640, 641, 642, 643, 644, 645, 646, 647, 648, 649, 650, 651, 652, 653, 654, 655, 656, 657, 658, 659, 660, 661, 662, 663, 664, 665, 666, 667, 668, 669, 670, 671, 672, 673, 674, 675, 676, 677, 678, 679, 680, 681, 682, 683, 684, 685, 686, 687, 688, 689, 690, 691, 692, 693, 694, 695, 696, 697, 698, 699;

LG-666700, 701, 702, 703, 704, 705, 706, 707, 708, 709, 710, 711, 712, 713, 714, 715, 716, 717, 718, 719, 720, 721, 722, 723, 724, 725, 726, 727, 728, 729, 730, 731, 732, 733, 734, 735, 736, 737, 738, 739, 740, 741, 742, 743, 744, 745, 746, 747, 748, 749, 750, 751, 752, 753, 754, 755, 756, 757, 758, 759, 760, 761, 762, 763, 764, 765, 766, 767, 768, 769, 770, 771, 772;

LG-666880, 881, 882, 883, 884, 885, 886, 887, 888, 889, 890, 891, 892, 893, 894, 895, 896, 897, 898, 899;

LG-666900, 901, 902, 903, 904, 905, 906, 907, 908, 909, 910, 911, 912, 913, 914, 915, 916, 917, 918, 919, 920, 921, 922, 923, 924, 925, 926, 927, 928, 929, 930, 931, 932, 933, 934.

128 av. du Maréchal-de-Lattre-de-Tassigny 87045 Limoges Cedex France Tel. +33 (0) 555068787 Fax. + 33 (0) 555068888

Your usual Sales office www.legrand.com

Product Environmental Profile

LGP plastic fittings





CONSTITUENT MATERIALS

This Reference Product contains no substances prohibited by the regulations applicable at the time of its introduction to the market. It respects the restrictions on use of hazardous substances as defined in the RoHS directive 2011/65/EU and its delegated directive 2015/863/EU.

Total weight of Image: Second secon								
Plastics as % of weight		Metals as % of weight		Others as % of weight				
Polyamide	57,0 %							
	L	Packaging	'		· · · · · · · · · · · · · · · · · · ·			
Polyethylene (LDPE)	4,1 %			Wood	27,0 %			
				Paper / cardboard	11,9 %			
Total plastics	61,1 %	Total metals	0,0 %	Total others	38,9 %			

Estimated recycled material content: 9 % by mass.



MANUFACTURE

This Reference Product comes from a site that observes the applicable legislation for industrial sites.



Products are distributed from logistics centres located with a view to optimize transport efficiency. The Reference Product is therefore transported over an average distance of 780 km by road from our warehouse to the local point of distribution into the European market. Packaging is compliant with European directive 2004/12/EU concerning packaging and packaging waste. At their end of life, its recyclability rate is 87 % (in % of packaging weight).



INSTALLATION

For the installation of the product, only standard tools are needed.



USE

Under normal conditions of use, this product requires no servicing, no maintenance or additional products.

128 av. du Maréchal-de-Lattre-de-Tassigny 87045 Limoges Cedex France Tel. +33 (0) 555068787 Fax. + 33 (0) 555068888

Your usual Sales office 1 www.legrand.com

Product Environmental Profile

LGP plastic fittings





END OF LIFE

The product end-of-life factors are taken into account during the design phase. Dismantling and sorting of components or materials is made as easy as possible with a view to recycling or failing that, another form of reuse.

• Recyclability rate:

Calculated using the method described in technical report IEC/TR 62635, the recyclability rate of the product is estimated at 92 %. This value is based on data collected from a technological channel operating on an industrial basis. It does not pre-validate the effective use of this channel for the end of life of this product.

Separated into:

- plastic materials (excluding packaging) : 54 % : 38 %
- packaging (all types of materials)



ENVIRONMENTAL IMPACTS

The evaluation of environmental impacts examines the stages of the Reference Product life cycle: manufacturing, distribution, installation, use and end-of-life. It is representative from products marketed and used in Europe, in compliance with the local current standards.

For each phase, the following modelling elements were taken in account:

Manufacture	Materials and components of the product, all transport for the manufacturing, the packaging and the waste generated by the manufacturing.
Distribution	Transport between the last Group distribution centre and an average delivery point in the sales area.
Installation	The end of life of the packaging.
Use	 Product category: no energy consumer. Use scenario: no energy consumption during the 20 years working life. This modelling duration does not constitute a minimum durability requirement. Energy model: Electricity Mix, Europe 27 - 2008.
End of life	The default end of life scenario maximizing the impacts.
Software and database used	EIME V5 and its database «CODDE-2018-11»

L legrand

128 av. du Maréchal-de-Lattre-de-Tassigny 87045 Limoges Cedex France Tel. +33 (0) 555068787 Fax. + 33 (0) 555068888

Product Environmental Profile

LGP plastic fittings



$\boldsymbol{\checkmark}$		
(
L.	J ()	

SELECTION OF ENVIRONMENTAL IMPACTS

	Total for l	_ife cycle	Raw material a manufact		Distributi	on	Installatio	on	Use		End of life	e
Global warming	1.76E-01	kgCO ₂ eq.	1.72E-01	98 %	1.15E-03	< 1%	7.61E-04	< 1%	0.00E+00	0%	2.03E-03	1%
Ozone depletion	5.92E-09	kgCFC-11 eq.	5.86E-09	99 %	2.33E-12	< 1%	5.98E-12	< 1%	0.00E+00	0%	5.18E-11	< 1%
Acidification of soils and water	2.19E-04	kgS0 ₂ eq.	2.03E-04	92 %	5.16E-06	2%	3.41E-06	2%	0.00E+00	0%	7.72E-06	4%
Water eutrophication	1.26E-04	kg(PO ₄) ³⁻ eq.	1.14E-04	90 %	1.19E-06	< 1%	2.19E-06	2%	0.00E+00	0%	8.80E-06	7%
Photochemical ozone formation	2.39E-05	kgC ₂ H ₄ eq.	2.27E-05	9 5%	3.67E-07	2%	2.45E-07	1%	0.00E+00	0%	6.03E-07	2%
Depletion of abiotic resources - elements	5.98E-08	kgSb eq.	5.96E-08	100%	4.60E-11	< 1%	3.47E-11	< 1%	0.00E+00	0%	1.31E-10	< 1%
Total use of primary energy	8.62E-01	MJ	8.13E-01	94 %	1.63E-02	2%	1.02E-02	1%	0.00E+00	0%	2.21E-02	3%
Net use of fresh water	8.64E-03	m ³	8.64E-03	100%	1.03E-07	< 1%	2.31E-07	< 1%	0.00E+00	0%	1.79E-06	< 1%
Depletion of abiotic resources - fossil fuels	5.05E-01	MJ	4.59E-01	91 %	1.61E-02	3%	9.91E-03	2%	0.00E+00	0%	1.97E-02	4%
Water pollution	7.64E+01	m ³	7.59E+01	99 %	1.89E-01	< 1%	1.16E-01	< 1%	0.00E+00	0%	2.29E-01	< 1%
Air pollution	9.14E+00	m ³	8.79E+00	96 %	4.71E-02	< 1%	6.10E-02	< 1%	0.00E+00	0%	2.40E-01	3%

The values of the 27 impacts defined in the PCR-ed3-EN-2015 04 02 are available in the digital database of pep-ecopassport.org website.

For products covered by the PEP other than the Reference Product, the environmental impacts of Manifacturing, Distribution, Installation and End of life phases are proportional to the mass, while the environmental impacts of the Use phase are always null.

Registration N°: LGRP-01627-V01.01-EN	Drafting rules: PEP-PCR-ed3-EN-2015 04 02				
Verifier accreditation N°: VH23	Information and reference documents : www.pep-ecopassport.org				
Date of issue: 12-2022	Validity period: 5 years				
Independent verification of the declaration and data, in compliance w Internal 🛛 External 🗌					
The PCR review was conducted by a panel of experts chaired by Phili	PEP				
PEP are compliant with XP C08-100-1 : 2016 The elements of the present PEP cannot be compared with elements					
Document in compliance with ISO 14025 : 2010: «Environmental label declarations»					
Environmental data in alignment with EN 15804 : 2012 + A1 : 2013					